Math 115
Spring 2018

Lecture 4

= 2
7at+b?=C")

?
Vé’ mx%[b)d,: n'r

Class Quiz

OSeve 4 (x-3) -2=20 =40
Yy-12-R=20 4%=20+20

'q'
YWY —20=20 Ax=40 {‘0}

B Sewe  2(x+1) -10 =X -
2y +2-\0 =><—izj-*> 2x-x =¥

2x—%=%-% %51 3ol

® 4 wore than ['_\-\u\'(e Some Now ber') < —10.
————
Let X be The uumbey,

SMA The wuwboev.
2X ¥ =-10
2x=-10 -4
2% = -4
rtd %=

\The nomber 71

April 16, 2018



April 16, 2018

So\\le

%x ——\,_;= X+2
LCD= 12
;\z,g_,x __)3%._\_: 20X 122
@Y — 3= 2% +24 % =t xa-b3-
X — 12X = A4+D P(:’E"-'ﬂ
%X =21 i"@_&
an
Seve
2(x +2)-1=3(-3) +1 -D-10
fé%(mg) _ 101 =48 -5 (3) ¥101

6(x +2) —\D=5(x-3) x10
6% 12 —\0=95% -15¥I0

6 @f@ 5 1y




April 16, 2018

SOWA%‘\ A~
S(x —2) 4.2(x+3) =%

&) -5 £33 +203) =%

o—"X - 10 -\ .é: :Q .-\'X: % -\-.ur
Ax =8
X =1 -\—.Q:% X
Ll
Ax -4 =% ® 73
\X= 12 %Z—k

Sel ggx 4 1(fo\“‘3) 1.45

09X & L2 @ol%s

29X =1M5 X .
25x =115

x-125 (x1] 1)
25




April 16, 2018

_“1 oY \ 35!0«\A ane move than
Sewme. 'v\om\)ea 'S e’TU“\ AV ‘-1_: '-\_T\‘mes

—'\":\_Y\\)mbfﬂ veduted by H.5.
Led X be the mombe,

Sinc)\ The mumber,
25.(x +1)=.1x -45
35% 4 .35 =.1%x 15

35— JAx= 4.5 -.39
25% =-1.¢€5

X = :_‘L?E’a e mumber
025 \\s —\ﬁ,"l’

\le:rx’x-é the Pro Por’\'(on.‘ Do Cross- M \+cf\|‘q‘;¢.

L
\ o9 B e
A <rur Teoperton

2 1.25(42) =00.5)(%)
3 o wdcﬂ.s /

3
g 1
= , S—PL\S:‘%L\ False




April 16, 2018

So\\)C

x __6
1.2 5
5% = 6(1.25) SL\‘SE\
_ 6(1.23) 3
x> "‘_g—' \m
L
SO\\‘?C—l A

S ('X-1> > 1(7(-\-3)

x 43 9 37(@%3 ~
13}5 3X-x =3 ¥3
2x=6

The oo oF Seme mum\ﬂv—@
s the Loame as *’M.‘m'\'\'o o 3 B 2.@
S’f\c}\ 21 oo 'Y\\)w\ber. LQ,"\" X be ’ﬂ\-b ”\.UMBQY}

%0: \20 20x=10(13)
1
_ 1o(13)
X-' 20 \’x;éoS\

(T\‘le number 'S é.S)




April 16, 2018

ao\w\ drove 15 wiles in 1.9 hrs.
i s rote, how \ov\a does it toke him

drive 220 wiles©

15 wmiles = 220 wules  Saye 15 220
1.9 hrs )

_1.5(220)
X’ —'5

—_—

\%=4.H]

‘:ov‘mo\u,l 349 Qn Q°‘~\10\+60w wvh  more

Thon one Vortable.

P=0. xb +C H;%

3

P:: ZL *2\1\) ) ﬂ::

3-,=wm(xx) , AxaBy=t
C:_(A» H=7(,Y‘2—




April 16, 2018

2?(+L\a:%

Sawe For a @9_\,*\(3:%

Tsolate HY = —2X 3
Divide 5‘6 4
Y y_-2 X
o ol

Sowe Sor a @B__ 3a:q

-3 = —2x +9
Divide ba -3

@a &3

3:%5x -3)




April 16, 2018

Swe So Lt P:2UG2W)

130\05"e L

P-cw =2l
P-2W
ol
Ss\\lQ gof C:
P-a xb ~C

So\vma Boastc Dercent prodlew \o\A

?m?orj\'\“ow B (P _ ?qr'\’
\00 whole

“whole. Comes 03'\'&\’ o}

127] of [what mombed 'S 36

P . Pl
12% = 100(36) 100 whele
x =300 ‘—2;- = .ié_»
000 X




April 16, 2018

SS-R‘*ZOS 'S What momber ©
° Pt ogs S

_ 185 X
100 whole 100 420
100% = 8.5 ( 420)
1%.5/ oY 420 x. 85120
. "7 (00
'S 1.1,
\'xﬂ’lf(l

(w\\o:\' ‘Pmenﬂ oS ‘%50] s 2047
P ?0«"\' P -\?EO'*

-
-

100 whole 00 890

%507 =100 (20%)
p. _loo(20%)
%S0

P-24

24/ o% 50 iS
204.




April 16, 2018

R Aetak s \obeled of 2.57 olcohdl.

How wuch olcohol T in 16 oT Ak 2
what vs 2.5/, 65 |6 0g)¢

T Py
00 whole

2.5 %
(00 16

1000x =16 (2.‘5)

6(25)  x=.4
100

X =

A TV s wmar¥ed Sor ¥R00.
Sales fax 1 Q.5/ o5 purchase price.

S_;“A e Yot CO§\'.
Total Cost = Purchase prce - Amoond of T

is 2.5/ oF Price)
D Pt

—\-o—oz who\e

Tax —> $ 4% o5 .
° - 0R
Price _’?'%OD‘_ —\B’O T Price
ot 563 39 | O
Cost 100 00

100 Tax = %:5(¥00)
Tax = 6%

10



Due Towmovrow

wp <h.

’Té e o S eTvm‘\'\‘onS

) when  There 5 —, Conditiona)
Frarke % o Savtions

2) Wh There Ove _ .
) \':;\w\,\‘\-{ 2 o% So\u'\'\'ons —DIAex\'\-\ \.\4

3) When there S coi e deon
MO So\u'\'\'ov\

April 16, 2018

Sawve %—bc-\-5> --‘a—')c:. 6

L =Y .
}(-_;.r(x-vs} “A- LX =46
2(x+5) —2x =24
2K 415 —2X =24
2 =34 -15
@_»if\}

Condi Fonal ETﬂ,.

1"



April 16, 2018

Save B (2x -4) 4 (x +5) =2x-32
6% -12)- 4% -20) =2x-32

DX —32 = AX -3
2x — 2% = =32 ¥

Q=0 "True

(nfi e x ofF Salutions = A\ Redl Momhes|

E}vo:\'iov\ 'S on (Am’ﬁ\'zj. =v W

So\\le
3(2 —4x) + 5 (2x +1) = -2(3+X) -5

B2 10% (9 =8-S

-2 "(11 = 11 —2x

-2x +2x =-11 -11
O =-22 —> False

-—

°rvoi\‘\'on 'S 0 _Solutvon
® L1l

12



April 16, 2018

Smd Area é}?e.r‘\me'\'e{
H = LW / P: AR -\"2\0

58

A= (x-5)5

- 5(x-5) |
VA =6x -26) 3 |

P-2(x-5) ~ 2(3)
-2x —\0 «x10 [’P:@J)?ﬂ

_2x x0 = 2% S

(x-5) §t

Due o movrrow
WP &

wp >
work on B&YH (Should be Co\lected

ol the end ofF class.
———————  —— ——_

13



